EXTEND

Identify the error in solving the absolute value equation.
Correct the error. Show your steps.

Explain how one might have made the error.

Justify the correct answer and steps.
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Identify the error in solving the absolute value equation.
Correct the error. Show your steps.

Explain how one might have made the error.

Justify the correct answer and steps.
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Identify the error in solving the absolute value equation,
Correct the error. Show your steps.

Explain how one might have made the error.

Justify the correct answer and steps.
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